


DO y=24%-1
®y=-(x-12+3

® y=-5x2+2x+3

T Rgol A& BEFSFUA Fo] 7}

£

=

=S

=]

o
.



o 2
o
4>
<

Ho O
Y
Tlo
D

®a>0,g>0

@ a<0, g<0

=ax’+¢ o A7t b5 28R F2 0, g, ¢ ] FS7}

yll
0 S
-
@ a>0,¢g<0 ® a<0,¢g>0

® ot 2 i},






5

=~ (x=3)? o LR} x S TSt} <

A o, g4

® 17

a®l gh=

3 18

Foir?

@ 19

® 20

EZ40]



@ oz 2=},
® y %ol diste] gHolc.

@ I Z7FA 1 AR A

® x<0 <, x o] gro] Z7}5}m




& oA y = alx-p)? +q 9 ATt 4, p, g 9 HEE

’yl\

\/0x'

®a>0,p>0,g>0 @ a>0,p>0,g<0

® a>0,p<0,g<0 @ a<0,p<0,g<0

® a<0,p>0,g<0



8. ARl y=x?+4x+25y=(x+A4)?-B ] BE HIAZHS o,
A+ B 9] g& Fstofet.

B
=¥



L

= 22 o] TRE ¢ FO| PO 3 U
p.~18) & ATk p o g R Fololat,

JJ(—;‘O(HO

&



10. oS o|A§s Z Jdinrt RE AR S AU AL

]'2
@y——ix
® y=-2x>+4

@ y=-5x>—4dx+1

© y=—4x>+ 8x

®y=-x>-2x-2

=
%
YR

3%



